. What do you mean by Environmental Pollution ?
What are its principal sources ?

TR YSEU | ST F GEE © 7 3He e @
HA-HAH § ?

. Explain the working hours of adults under Factory
Act, 1948.

FHREM SAUFTFH, 1948 & Ted TTSH & HE & =U
T AT FHIfS |

. Explain the various Labour Welfare Theories.

o1 Fwea & fafisr fagra =1 =men wifs

. Write a short note on Annual Leave with wages
under Mines Act, 1952.

@ sifufEm, 1952 & sw=ald ‘aiftier TR S
R feuoi fafem)

. Explain the effect of industrialization on workers.

AR T STUNNHIOT & YU i ARG TSI |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

e - 'y et iR ‘T 1 wmel § fawifsa ®1 v
g % FEYER w9+ & W S|

Section-A 10x2=20
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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T ug—3H (ix) Welfare Funds

(a1fr o1y S 99) HEHT0T Y
Fdor - Tt gl SR NI o T W AT YIAER (x) Industrial Sociology
TH =, TH 9 A SAeshad 30 Wl H qREitd ST TSI
L1 T T 2 AT T Section-B 4x20=80
1. (i) Factory (Short Answer Type Questions)
HEMT Note .— Answer any four questions. Each answer should not
(i) Hours of work exceed 200 words. Each question carries 20 marks.
gus—d
e (g ST 99)
(ii1) Child ey .- forsl 9 uvl & SW SINU oM o IW R
T sAfeerad 200 ves | UREHG ST T&® TR

20 3Rl T T

2. Explain the concept of Labour Welfare in India.

(iv) Factory Act

FHREM A= . . e
URA H 99 FHeA0 i GHoUdl hi SATEAT HifS |
Mi A )
W) ines Act 3. Define ‘Factory’ under the Factories Act, 1948.
e A HREE Sfufaa, 1948 & ST=Td HREM I i
(vi) The Inter-State Migrant Worker TRy F1 fawR ¥ g9 |
ST Yo St 4. What type of social problems have been created
(vii) Bonded Labour by Industrialisation ? Suggest measures to resolve
them. Give your answer in brief.
T3 AR . - - .
ST & fFd YR &1 IS THEm 3909 55
(viii) Five Year Plan €7 = QW HW B UM GIRY| AT IR FaW H
TS AT fafem
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